EARAROBEEIERT — 2 N— IBISH —F

201455830 (+) 2M%E=3AH

R BEEREAE S T ECEE e

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

N > NESZE PP 3 éﬁl_ﬂ‘gl)IE%ﬁ 1:(4_8).7 3-4-3 |35.1|86.0 | 8 | 418 %ﬁi’é (=)
QAZJELLy b BiZUJTULRA O | mmis

ol7l1alr1 712k [B] # 3 ?S_Egt‘s% 1(748t>7 16-12-10 | 34.6 | 86.1 | 4 | 494 E§§§ (=)
R:Tw P GIRTy b By ALY RTY (-6) EESEN:Ze

. =HE : 10~ —JEHE (&

s Frv=va -1 3 5—6/_% 15 (17;4;% 13-10-10 |34.6| 86.1 | 2 (413) ﬂ,%;:ﬁiﬁ E35))
L ZRFAd—I K B:T7H>T5-Va pakyec)

al1lo| 8o H 3 %ﬁ;ﬂﬁﬁ 1(;{15:? 9-6-6 |35.0| 85.0 | 7 450 ggﬂg’%i&iﬁ)
R:O-I TUS BiYIEY O | EmExsy ¢

511101 Y754 LF % 3 Ei‘%%’(eﬁ 1;(429).1 5-12-10 |35.0| 81.9 | 10 444 gg%ﬂg (E#)
QUrh—> BiLFUyF C10) | {ovis 4t

6lgli7| YV —7—7 4 3 5A6.0~>1M'r 1745!;:; 7-2-3 | 35.6( 81.1 | 1 476 bﬂgiﬁﬁﬁﬁl ooy

. P

LF=TANNT N BL—2F4 LR (+4) J—HrTp—L

7 g | KE>L—2 i 3 15*%1%%11; 1(74?:)2 10-6-6 |35.3| 80.9 | 9 466 ¥’E§>%;\/(§iﬁ>vi>\/7
R:aArFaAy b BiL—Xv 2y o | Ty 55

8 ;| 7n—o—%2 [B] i 3 %E%IE% 1(;5::)2 5-6-6 |35.4| 80.9 | 6 (4_666) 232)\%@»;4;71 -
LT =TA2INT N BESTHAS HET7—L

ol 3| 7Ty bU— #3 | BEEA 1498 111 |36.0| 79.2 | 11 | 478 gﬁ%ﬁm
REVITUN BiwsI—YLT 2 | miss

10l7l5 7V s7unvE- H 3 ;lﬁit 1(/4\15;)3 10-9-9 [35.3| 79.8 | 5 | 464 Eﬁ%‘}(%@
LTV eF B:ivay-o DS T —a

1118118 a4y ILNXE — 4 3 ng)iﬂﬁifa 174?:;1 18-17-15 [34.9| 78.8 | 14 | 442 #ﬁ%ﬁﬁgéig)
QHZIELLY N BiEZIEHLT 10|y giagig

121510/ /¥7 =2 v b 4 3 EE’%'_:'ST@% (11419/5 7-10-10 | 35.4 | 76.7 | 17 | 454 /Jﬁfﬁ%i €35
L:H75T7LIYFr N B/ av L H— (+8) WE XF

| 2 5-v1—r to) g | 0 | P
LY RYTYRIR BT - : (B) #Ea—FKL—a>AETr

1400 11| 7Y 74— # o3 | FLaE o e A EE ()
QRIY—E—O— BiEYTIALHL 42| s

1515/ 9| 7Y—>v—1F [B] i3 | EERL 1(75?:? 13-16-14 | 35.6 | 72.7 | 18 | 426 %E;‘ru% ()
RNAT ==L B:RF—7)—-X> (-8) Eissilve ]
. o eI . 10— — j

6lz|13| ¥ v —H>T7-> 3 | ZEERE 1(/75?:; 10-12-15 | 85.6 | 71.7 | 15 (fg) 2%?5 ()
R:hrN=— B/ yJR HEIEHHS

1718l 1% 7L 4 3 E%_E%kf‘ﬁ 1(*7505; 2-2-2  |36.7| 71.7 | 12 | 454 ;Qﬁgﬁ (=)
R:T5yIEAK Biv—oUTIysa 40 | g aum

" A2 3 ﬁ{%ﬂiﬁ 1(:15/02.>2 16-18-18 | 35.5| 70.6 | 16 | 444 %ﬁ%ﬁ (=)
R:xF41=T7—R B:H—HIIARSLYH (=2) EalsEie

@ 21 L

£y 48.3-35.4

AR A4 | 12.7-11.1-11.9-12.2-12.5-12.9-11.5-11.6-12.3

® I—F—&EBIERL

13—7-

Aol=5"= 3,16(4,6) (1,7) (10,17)2(8,13,15) (9,11,12) (5,14)-18

383—7— [3(16,17) (4,6) (2,8,7)15(12,10) (1,11,13,14)9,18,5

Mal=5r= (x3,16) (4,6,17) (2,8,7)15(1,12,10,14)9(11,13,18)5

[ RN

-y 4 3,030M | | 74 K 4-14 1,750 | | # = 2-7 3,240 | | 3EE| | 4-12-14 7,460M

B B 4 550M 4-12 1,300M B E 4-14 6,070/ EE 4-14-12 88,130M

14 190 12-14 460M B H 4-14 16,980
12 170

ABICOVWTRDTEEERROODE. TR LIV,




